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PAD LOSS TABLE

PARALLEL MIXER OR BRANCHING NETWORK

N = Number of inputs
Example: Three-position Mixer Circuit
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SERIES MIXER OR BRANCHING NETWORK
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How To Use The Pad Loss Table: Where the impedance ratio is known, the Pad Loss Chart provides the mismatch loss and the
minimum loss of the impedance matching network. The center column of each section is the impedance ratio. Mismatch loss is
listed to the left, and minimum loss to the right. For example, a 600-ohm line loaded with a 1800-ohm resistor provides a ratio
of 3.0. To the left of the 3.0 ratio is the mismatch loss (1.244) and the minimum loss figure, to the right, is 9.960.

All loss figures are in decibels.



